Editor's Comments 
Please carefully address the two comments raised by one of the reviewers and provide necessary discussion on them in the maint text of the revised manuscript. 
Reviewer 1 (Anonymous) 
Basic reporting 
My comments have been addressed properly. 
Experimental design 
My comments have been addressed properly. 
Validity of the findings 
My comments have been addressed properly. 
Comments for the Author 
My comments have been addressed properly. 
________________________________________
Reviewer 2 (Yahai Lu) 
Basic reporting 
no comment 
Experimental design 
no comment 
Validity of the findings 
no comment 
Comments for the Author 
The manuscript is greatly improved. But some data still look odd to me and I shall appreciate if authors can give more explanations. First, based on Figure 1A, the production of CH4 from the coculture of G. metallireducens and M. barkeri without magnetite indeed indicates DIET in syntrophic interaction. In this case, however, only about 0.5 mmol of CH4 was produced. If this CH4 was produced solely from CO2 reduction by the electrons released from ethanol oxidation, 1.0 mmol of acetate should be produced which can be either used by the methanogen or accumulated in medium. The ethanol concentration for this treatment is slightly different from the earlier version, perhaps due to some mistakes. But in the absence of magnetite, it should be easy to calculate electron balance which shall help to better understand what is really going on. 
Answer: Thanks for the acceptance of improvement for our manuscript as well as DIET in the control system. 
L158-163. “First, based on Figure 1A, the production of CH4 from the co-culture of G. metallireducens and M. barkeri without magnetite indeed indicates DIET in syntrophic interaction. However, DIET is not exclusively occurred, at least a part of methane was still produced from acetate. For example, if half of the methane (~0.25mmol) was produced from acetate (~0.25mmol), the concentration of acetate remained in the medium should be ~0.25mmol.”
Second, based on Figure 1C, the treatment of Geobacter monoculture plus Fe3O4 indicated that a lot of ethanol (from 1.2 mmol decreased to about 0.4 mmol) was oxidized by Geobacter with Fe3+ in magnetite as the only electron acceptor. This indicates a substantial reduction of Fe3+ in magnetite. With this reduction activity involved, it is hard to image why DIET is still necessary for the living of Geobacter and if acetate is released by Geobacter during ferric iron reduction, DIET would be also unnecessary for the living of Methanosarcina. 
Answer: From the reaction C2H6O + H2O → C2H4O2 + 4H+ + 4e-, about 3.2mmol electrons were produced by 0.8mmol (from 1.2 mmol decreased to about 0.4 mmol) ethanol oxidation, only ~5% electrons (0.17 mmol Fe2+) were accepted by Fe3+ in magnetite. However, around 95% electrons were still available for Methanosarcina barkeri. A part of acetate was also needed for the living of Geobacter. Acetoclastic methanogenesis is indeed an option for M. barkeri, however, DIET is another option, which could not be excluded.
[bookmark: _GoBack]L200-205. “The results indicated that only a small portion of electrons (about 4.6mmol electrons released from 1.15mmol ethanol oxidation, 0.18 mmol /4.6 mmol, about 3.9%) in G. metallireducens-M. barkeri co-cultures with magnetite were used for ferric iron reduction and the majority of electrons (about 96.1%) were used for methane production.”
